



St. Louis County, Minnesota

Date of Report: 12/14/2025 3:28:30 PM

General Details

 Parcel ID:
 010-4500-06950

 Document:
 Torrens - 957849.0

 Document Date:
 05/26/2015

Legal Description Details

Plat Name: WEST DULUTH 4TH DIVISION

Section Township Range Lot Block

Description: LOTS 1 THRU 16 BLOCK 295 AND LOT 1 THRU 16 BLOCK 296 INC VAC ALLEY AND AVE ADJ

Taxpayer Details

Taxpayer Name FAM LEASING PARTNERSHIP LLP

and Address: 5910 FREMONT ST2

DULUTH MN 55807

Owner Details

Owner Name FAM LEASING PARTNERSHIP LLP

Payable 2025 Tax Summary

2025 - Net Tax \$10,100.00

2025 - Special Assessments \$0.00

2025 - Total Tax & Special Assessments \$10,100.00

Current Tax Due (as of 12/13/2025)

Due May 15		Due October 15		Total Due			
2025 - 1st Half Tax	\$5,050.00	2025 - 2nd Half Tax	\$5,050.00	2025 - 1st Half Tax Due	\$0.00		
2025 - 1st Half Tax Paid	\$5,050.00	2025 - 2nd Half Tax Paid	\$5,050.00	2025 - 2nd Half Tax Due	\$0.00		
2025 - 1st Half Due	\$0.00	2025 - 2nd Half Due	\$0.00	2025 - Total Due	\$0.00		

Parcel Details

Property Address: 5910 FREMONT ST, DULUTH MN

School District: 709
Tax Increment District: Property/Homesteader: -

Assessment Details (2025 Payable 2026)									
Class Code Homestead (Legend) Status		Land Bldg EMV EMV		Total EMV			Net Tax Capacity		
233	0 - Non Homestead	\$43,100	\$332,300	\$375,400	\$0	\$0	-		
	Total:	\$43,100	\$332,300	\$375,400	\$0	\$0	6758		





St. Louis County, Minnesota

Date of Report: 12/14/2025 3:28:30 PM

					Date of Report.	12/14/2025 3:28:30 PN		
			l and D	eteile				
Deeded Asses	0.00		Land D	etaiis				
Deeded Acres:	0.00							
Waterfront:	-							
Water Front Feet:	0.00							
Water Code & Desc:	P - PUBLIC							
Gas Code & Desc:	P - PUBLIC							
Sewer Code & Desc:	P - PUBLIC							
Lot Width:	0.00							
Lot Depth:	0.00							
The dimensions shown are r https://apps.stlouiscountymn	not guaranteed to be s	curvey quality. A	Additional lot	information can be for	ound at	av@stlouiscountymn.gov		
mtps.//apps.stiouiscountymin	.gov/webi latsiirame/i	-		tails (MAIN OFC		ax@silouiscountymin.gov.		
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.		
OFFICE	1920	1,10		1,104	-	otyle oode a best.		
Segment	Story	Width	Length		Foundati	on		
BAS	3.01 y	24	46	1,104	FOUNDAT			
DAS	<u>'</u>	24	40	1,104	FOUNDAT	ION		
		Improven	nent 2 De	tails (ATT TO #1)			
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.		
WAREHOUSE	1920	1,19	92	1,192	-	-		
Segment	Story	Width	Length	Area	Foundati	on		
BAS	1	16	17	272	FOUNDATION			
BAS	1	23	40	920	FOUNDAT	ION		
Improvement 3 Details (BRICK OFC)								
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.		
OFFICE	1920	50		504	-	-		
Segment	Story	Width	Length		Foundati	on		
BAS	1	21	24	504	FOUNDAT			
Brito								
		-		etails (100X110)				
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.		
WAREHOUSE	0	11,0	000	11,000	-	-		
Segment	Story	Width	Length	Area	Foundati	on		
BAS	1	100	110	11,000	FOUNDAT	ION		
		Improv	ement 5 [Details (40X75)				
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.		
WAREHOUSE	1977	3,00	00	3,000	-	- -		
Segment	Story	Width	Length	Area	Foundati	on		
BAS	1	40	75	3,000	FLOATING	SLAB		
		Improv	ement 6 [Details (32X42)				
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.		
WAREHOUSE	1924	1,34		1,344	-	- -		
Segment	Story	Width	Length		- Foundati	on		
BAS	3 tory 1	32	42	1,344	FLOATING			
DAS	1	JZ	44	1,344	FLOATING	OLAD		





St. Louis County, Minnesota

Date of Report: 12/14/2025 3:28:30 PM

			7 D . 1	'I- /0\/00 OONE	W\					
		-		ails (8X20 CONE	•					
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.				
STORAGE BUILDING	0	160		160	-	-				
Segment	Story	Width			Foundati					
BAS	1	8	20	160	POST ON GR	OUND				
Improvement 8 Details (8X20 CONEX)										
Improvement Type	Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.				
STORAGE BUILDING	0	160		160	-	-				
Segment	Story	Width	Length	Area	Foundati	on				
BAS	1	8	20	160	POST ON GR	OUND				
	Improvement 9 Details (8X20 CONEX)									
Improvement Type	Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.				
STORAGE BUILDING	0	160		160	-	-				
Segment	Story	Width	Length	Area	Foundati	on				
BAS	1				POST ON GR	OUND				
I T		•		ails (8X20 CON	•	Otala Ocala O Doca				
	Year Built			Gross Area Ft ²	Basement Finish	Style Code & Desc.				
STORAGE BUILDING	0	160		160	-	-				
Segment	Story			Area	Foundati					
BAS	1	8	20	160	POST ON GR	OUND				
Improvement 11 Details (8X40 CONEX)										
Improvement Type	Year Built	Main Floor Ft ²		Gross Area Ft ²	Basement Finish	Style Code & Desc.				
STORAGE BUILDING	0	320		320	-	-				
Segment	Story		_	Area	Foundati	on				
BAS	1	8 40 320		POST ON GR	OUND					
		Improvemer	t 12 Det	ails (8X40 CON	EX)					
Improvement Type	Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.				
STORAGE BUILDING	0	320		320	-	- -				
Segment	Story	Width	Length	Area	Foundati	on				
BAS	1		_	320	POST ON GR	OUND				
				ails (8X40 CON	EX)					
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.				
			•			2., 30a0 a 2000.				
	0	320		320	-	_				
STORAGE BUILDING	0 Storv	320 Width		320 Area	- Foundati	on -				
STORAGE BUILDING Segment	Story	Width	Length	Area	- Foundati POST ON GR					
STORAGE BUILDING	Story 1	Width 8	Length 40	Area 320	POST ON GR					
STORAGE BUILDING Segment BAS	Story 1	Width 8 Improvemer	40 11 14 Det	Area 320 ails (8X40 CONI	POST ON GR	OUND				
STORAGE BUILDING Segment BAS Improvement Type	Story 1 Year Built	Width 8 Improvemer Main Floo	Length 40 at 14 Det or Ft 2	Area 320 ails (8X40 CONE Gross Area Ft ²	POST ON GR					
STORAGE BUILDING Segment BAS Improvement Type STORAGE BUILDING	Story 1 Year Built 0	Width 8 Improvemer Main Floo 320	Length 40 at 14 Det or Ft 2	Area 320 ails (8X40 CONE Gross Area Ft ² 320	POST ON GR EX) Basement Finish -	Style Code & Desc.				
STORAGE BUILDING Segment BAS Improvement Type STORAGE BUILDING Segment	Story 1 Year Built 0 Story	Width 8 Improvemer Main Floo 320 Width	Length 40 at 14 Det or Ft 2 Length	Area 320 ails (8X40 CONE Gross Area Ft ² 320 Area	POST ON GR EX) Basement Finish Foundati	Style Code & Desc.				
STORAGE BUILDING Segment BAS Improvement Type STORAGE BUILDING	Story 1 Year Built 0	Width 8 Improvemer Main Floo 320	Length 40 at 14 Det or Ft 2	Area 320 ails (8X40 CONE Gross Area Ft ² 320	POST ON GR EX) Basement Finish -	Style Code & Desc.				
STORAGE BUILDING Segment BAS Improvement Type STORAGE BUILDING Segment	Story 1 Year Built 0 Story 1	Width 8 Improvemer Main Floo 320 Width 8	Length 40 at 14 Det or Ft 2 Length 40	Area 320 ails (8X40 CONE Gross Area Ft ² 320 Area	POST ON GR Basement Finish Foundati POST ON GR	Style Code & Desc.				
STORAGE BUILDING Segment BAS Improvement Type STORAGE BUILDING Segment	Story 1 Year Built 0 Story 1	Width 8 Improvemer Main Floo 320 Width 8	Length 40 at 14 Det or Ft 2 Length 40 at 15 Det	Area 320 ails (8X40 CONI Gross Area Ft ² 320 Area 320	POST ON GR Basement Finish Foundati POST ON GR	Style Code & Desc.				





St. Louis County, Minnesota

Date of Report: 12/14/2025 3:28:30 PM

Segmen	nt Story	Width	Length	Area	Foundation				
BAS	1	8	40	320	POST ON GROUND				
		Improvem	ent 16 Detail	s (MISC STOR)				
Improvement Typ	Main Fl	Main Floor Ft ² Gross Area Ft ²			Basement Finish Style Code & De				
STORAGE BUILDIN	IG 0	38	384 384		-	<u> </u>			-
Segme	nt Story		Length	Area		Foundation			
BAS	1	8	48	384	POST ON GROUND				
	5	Sales Reported	to the St. Lo	ouis County Au	uditor				
Sal	le Date		Purchase Price			CRV Number			
04	l/1997	\$200,000 (\$200,000 (This is part of a multi parcel sale.)			119810			
		Α	ssessment H	listory					
Year	Class Code (<mark>Legend</mark>)	Land EMV	Bldg EMV	Total EMV		Def Land EMV	BI	ef dg VIV	Net Tax Capacity
2024 Payable 2025	233	\$43,100	\$332,300	\$375,40	00	\$0	\$	0	-
	Total	\$43,100	\$332,300	\$375,40	00	\$0	\$	0	6,758.00
2023 Payable 2024	233	\$43,100	\$332,300	\$375,40	00	\$0	\$	0	-
	Total	\$43,100	\$332,300	\$375,40	00	\$0	\$	0	6,758.00
	233	\$40,500	\$235,000	\$275,50	00	\$0	\$	0	-
2022 Payable 2023	Total	\$40,500	\$235,000	\$275,50	00	\$0	\$	0	4,760.00
	233	\$40,500	\$235,000	\$275,50	00	\$0	\$	0	-
2021 Payable 2022	Total	\$40,500	\$235,000	\$275,50	00	\$0	\$	0	4,760.00
		-	Γax Detail Hi	story			1		
Tax Year	Tax	Special Assessments	Total Tax 8 Special Assessmen			axable Bui MV	lding	Total	Taxable MV
2024	\$10,390.00	\$0.00	\$10,390.00	\$43,10	0	\$332,30	0	\$375,400	
2023	\$7,632.00	\$0.00	\$7,632.00	\$40,50	0	\$235,00	0	\$	\$275,500
2022	\$8,646.00	\$0.00	\$8,646.00	\$40,50	0	\$235,00	0	\$	\$275,500

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.